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average height in the 0% X group.
From the menu bar, select Insert --> Function
or press Ctrl + F2.
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You'll get a dialog box. Select Statistical
from the pull down menu for Category.
Then select AVERAGE from the Function
list.

Click Next>>
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Enter the range of cells to be averaged

in the number 1 box. You can either
type the cell numbers in the box or

highlight the column of cells. Click OK.
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The steps for determining the standard
deviation for each group are essentially the
same as for determining the mean. The

exception is that you select STDEV from the
Function list.




A

bl ol ol ol R = = IS -0 T (O SR O

0% X

216281708 1.72884033) 1.840893503 1.632993162 std dev

Function Wizard x|
Function result I
TTEST
TTEST( data_1; data_2; mode; Type )
Calculates the T test.
Formula Result IErr: 520
= -
-,
| Cancel <« Back Mext == oK

C | D | E F G H
10%X  20%X  30%X

15 18 12 6

14 20 10 8

13 14 14 g

15 20 10 4

15 18 8 4

17 19 8 g t test

18 18 10 8

12 18 10 7

19 17 1 8

15 19 12 g

153 18 1 105 6 mean For the t test to compare two means,

select TTEST from the Function list.

0% vs 10% 0% vs 20% 0% vs 30% ttest

pvaues  Click Next>>.

10% vs 20% 10% vs 30% ftest

Functions | Structure I

Category

[statistical |

Function

SKEW =]
SLOPE

SMALL
STANDARDIZE
STDEY
STDEVA
STDEVP
STDEVPA
STEYX

TDIST

TINV

[TRIMMEAM

VAR

VARA hd

[ Array Help

T IR




Jacs LN

b ol ol ol F= R V-0 -0 RN - EE 0 QU R N S

You'll get a more complicated looking dialog
box this time. Enter the cells for one of the
data groups to be compared in data_1. Enter
the cells for the other data group in data_2.
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variances, the mode is 2 and the Type is 3.
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Depending on how the
preferences are set up, the p
values that are reported for
the t test might only go to two
decimal places. In that case,

p < 0.01 will appear as zero.



